
No algorithms in generalsambiguatingGrammars I Requires creativity
Example1

Starting grammar :

S=== S + S/SH/6
6 =

6 +Y-- st's
keep I

Rule out



S=== S + S/SH/6
6 =

6 +Y-- st's
keep I

Rule out

S = =
= SAS / Nostar checks' stNostar := Nostart 16 676+1

NoStar

Unambiguous ? ↳ Nasser It
6 + 6 + 6



S == = SAS / NoStar
-

Nostar := Nostart 16

Rule
out

6 + 676/1s S- VS-

S's Nostar
-

Nostar Wostar I ↳ Nosta Nostar

↓ ↓
-

-

↳ ↓
--> keep -

left associative

S = =
= S+ Nostar) NoStar

Check 6 +676

Nostar := Nostart 16 *Nostar W
Unambiguous now ? s'* Nostar !

Prove it by induction Noster !

on depth of parse trees
↓



Example2

Starting grammar
:

S == funx
. S (as/2/(S)

Ambiguous?

funx
.
2 app2 plus sats

-I
keep

-
-
-> Rule out

S == funx
.
S/NoFnappS/2 / (S)

NoFun := NoFun app NoFun) 2 /(S)

-
check : fanx . 2 app 2

andUnambiguous ?
-

S

I
app I app 2



S == funx
.
S/NoFnappS/2 / (S)

*

NoFun := NoFun app NoFun) 2 /(S)

vs.
No Fun

2 app2 apo 2

NoranShots Sets-

NoFun kop Norun ! !
- -

- -keep ! -
-
-

Rule out. I

S ==
= funx

. S/NoFun app NoApp/ NoFunNoApp

NoFun := NoFun app NoFunNoApp/NoFunNoApp
NoApp := funx .

S ( NoFunNoApp

NoFunNoApp :== 2 / (S) Not on po NoApp
-

Check 2 app
2 app 2

NoFun poNoFunNotra WofanNoApp
Unambiguous now ? NounNoApp !

I
-



Example3

Starting grammar
:

S : =
= funx. S (S +S(S+5/2

metAssociativity Specification

right # highest precedence
left t

fun X . lowest precedence

S :== funx. S / Plus
Missing things like

Plus := Plust Starl Star
I * fun x

.

2
Star : = Atom * Star 1 Atom
Atom : = 2



Si== NoFun I Fun
-

NoFun :: = Nount NoPlusNoFun/NoFun-
-

-

NoPlusNoFun :=
= NoPlusNoFunNoStar # NoPlusNoFun I
-

NoFun NoStar
-

NoPlusNoFunNoStar ::=
Fun === NoFunt NoPlus I NoPlus

NoPlus ::
= NoPlusNoFurNoStar # NoPlus/ FinallyFun

Finally Fun ::
= funx .

S

Sin
Check : 2 # fun x . 2

woplus E
-

I ProplusNoPlusNoFunNuStar

2 I

2 + 2 + 2 Finally Fun
/ 'fun x-

:


